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QUESTION 1

Which message will trigger generating the G-CDR? 

A. PDP Context Request. 

B. PDP Context Response. 

C. PDP Context Activation. 

D. PDP Context Setup. 

Correct Answer: C 

 

QUESTION 2

What is the minimum bit rate of Subtsl in the BSC? 

A. 2. 

B. 16. 

C. 8. 

D. 64. 

Correct Answer: C 

 

QUESTION 3

IMSI consists of which of the following elements? 

A. CC + NDC + SN. 

B. CC + NDC + MSIN. 

C. MCC + MNC + SN. 

D. MCC + MNC + MSIN. 

Correct Answer: D 

 

QUESTION 4

Short messages are transmitted in? 

A. SCH. 

B. PCH. 
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C. SDCCH. 

D. TCH. 

Correct Answer: C 

 

QUESTION 5

Which of the following options is true with respect to orthogonal sub-channel feature in Flexi BSC? 

A. OSC feature will works if RX diversity is disabled. 

B. DHRLIM should be set as 0 percent for OSC. 

C. The BSC does not apply OSC DHR multiplexing in a TRX in which the alarm 7607 is active. 

D. Prequisite for OSC implementation is Flexi BSC S14 Mp7.0. 

Correct Answer: C 
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